
Pm = 1  Pmax1 = 1,958  Pmax2 = 1,516 
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Pm = 1  Pmax1 = 1,958  Pmax2 = 1,147 
 

45° 90° 135° 180°
δH°L

0.5

1

1.5

2
pH−L

 

2 4 6 8 10
tHsL

60

80

100

δH°L

 

2 4 6 8 10
tHsL

-1

-0.5

0.5

1

∆ωHs−1L

 



Pm = 1  Pmax1 = 1,958  Pmax2 = 1,141 
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Pm = 1  Pmax1 = 1,958  Pmax2 = 1,107  tlumení B = 0,0003 
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rce = 8Pm − Pmax2 ∗Sin@β@tDD m J ∗ ω@tD∗ ω'@tD + B ∗ ω@tD∗ β'@tD,

ω t m β' t + ω0, β 0 m pocbeta, ω 0 m ω0 ;@ D @ D @ D @ D <  



Pm = 1  Pmax1 = 2,28  Pmax2 = 0,398  Pmax3 = 1,94 
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vypnutí zkratu: tvyp =  1s 0,5s 0,4s 0,3s 0,2s 
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Pm = 1  Pmax1 = 2,28  Pmax2 = 0,398  Pmax3 = 1,94  tlumení B = 0,0003 
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vypnutí zkratu: tvyp =  1s 0,5s 0,4s 0,3s 0,2s 
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